Tabelle 25: Beispiel 2 = Endlésung (3,2 AK)
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l Py Py P2 Ps Py P Pg Py Pg Py Pyo Piy P2 Py Py Pis Py Py7 Pig Py Py P2 Py Pes Pyy Py Pogq Py
verfiigbare
Blattfruchtfliche . Ps 4,4750 0,3217 1,0324 1 — — 00528 — — — 0,0002 0,0000 0,0150 —0,0237 — 0,0004 —0,0087 — 0,0005 —- — — 0,0154 — — — — — 0,0103 —
520 Mastschweine .... Pg; 9,0150 [— 0,0011 0,0030 — —  — 00011 — — — 0,0001 0,0001 — 0,0003 8,9913 — - 0,0001 0,0001 — 0,0041 — —  — 0,0007 — — — — — 0,4500 1
1964 Zuckerriiben .... Pjy 1,8442 | — 0,0183 0,0510 — —  — 01651 — — — 0,0003 00124 — 0,0255 —0,9230 — 0,0100 —0,0602 — 0,0014 — 1 0,0385 — — — — —  —0,0179 —
verfiigbare
Kleegrasfliche .. P4 4,0271 |— 0,1026 1,2136 — 1 — 02021 — — — 0,0663 0,0070 0,0057 —1,2925 — —0,0180 0,0411 — 0,0307 — — — 02160 — — — — — 0,0197 —
367 Mastvieh ........ Pss 7,3857 1,1740 —3,2682 — — 52877 — — —  —0,0168 —0,0047 — 3,1647 24586 — —0,0386 0,8647 — — 0,0820 — — 1,5420 — - — — 1 0,3064 —
verfiigbare AKh
in Periode1II ..... Pg 6,0057 | —23,7220 66,3990 — — —338113 1 — — 0,3165 — 1,7915 2,5760 — 46,0015 — —2,1581 6,1887 — 1,5584 — — —253401 — — — — — 0,1417 —
1202 Milchvieh ........ Py 11,9972 — —0,0002 — —  — 00003 — — —  —0,0000 0,0001 1,0002 0,0003 — —0,0000 —0,0000 — — 00005 — — 0,0001 — — — 1 —  —0,0001 -
verfiigbare AKh 27,8928 | — 36,3596 — 27,2971 — —  —245319 — — 1 0,0904 0,0867 — 11,8120 —170,8108 — —0,1772 —0,3457 — —44,5871 — —  — 40812 — — — — — —30601 —
in PeriodeIV .... Pg
1841 Kartoffeln ....... Pis 1,4075 | — 0,0523 0,0735 — — — 0,184 — — — 0,0056 — 0,0032 0,0007 —0,4739 — 0,0044 —0,0424 — 0,0280 1 — — 01132 — — — — — 0,0239 —
verfiigbare AKh
in Periode III ....P; 166,7215 | — 11,8195 329024 — —  —11,2180 — 1 — 0,1695 0,1768 — 3,8420 — 97,1974 — —0,4191 03445 — 45,8085 — — — 66148 — — — — — —02327 —
—140 Mahweide ....... Pog 0,6916 | — 0,1527 0,4250 — — 03127 — — — 0,0022 0,0006 — 0,1387 —0,3200 — — —0,1124 — 0,0110 — — — 02005 — — 1 -- — 0,0302 —
—119 Kleegras ........ P2 0,4493 0,4242 —1,1808 — — 0,1402 — — — —0,0061 — 0,0069 0,0003 1,2678 — 0,0184 —0,0498 — — 0,028 — — 0,2006 — 1 — — — —0,0094 —
verfligbare »
Kilber .......... Pys 58114 | — 1,1739 3,2680 — — — 52879 — — — 0,0168 0,0048 4,2649 — 24585 1 0,0385 — 0,8647 — 0,0815 — —  — 1,520 — — — — -  —03065 —
1245 Getreide, spédt ... Pjg 8,9497 0,6434 1,069 — — — 01056 — — — 0,0003 0,0001 0,0300 —0,0476 — 0,0008 —0,0173 1 1,0009 — —  — 00308 — — — — — 0,0206 —
—383 Futterroggen und
Mais ............ Py 0,7785 | — 0,0322 0,0808 — — 0,1512 — — — 0,0005 — 0,0023 0,0215 0,1022 — —0,0324 0,1437 — 0,0023 — — 08585 1 — — — — 0,0137 —
Zj i, 38726,1070 | 1082,3088 409,7344 — — 1017,7831 — — — 52380 18,5348 55,8734 2688,6733 — 23,9505 66,1858 1245 1272,8072 1841,0 1964 70,1347 — 383 — 119 — 140 1202 367 372,3636 520
ZjmCj i, 38726,1070 | 1082,3088 409,7344 — — 1017,7831 — — - 52380 18,5348 55,8734 2688,6733 — 23,9505 66,1858 0 27,8972 0 0 331,1747 O 0 0 0 0 10,3636 0




